
1

2Ch



2



Contents

3



4 CONTENTS

1 ”strong=”c/2388|������������/�� x-morph=”OSHM:HC/Vtw3ms”
x-cantillationLevel=”1.0.0” ”strong=”8010|��������� x-morph=”OSHM:HNp”
strong=”1121|��� a” x-morph=”OSHM:HNcmsc”���������|strong=”1732”

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”5921|��� a” x-
morph=”OSHM:HR”��/����������|strong=”4438” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3068|������/�� x-morph=”OSHM:HC/Np”
”strong=”430|��/������� x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/1431|���/����������/��� x-morph=”OSHM:HC/Vpw3ms/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/4605|�/�������/�� x-morph=”OSHM:HR/D/Sd”
x-cantillationLevel=”0”� 2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1.1” ”strong=”l/8269|�������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/505|���������/�� x-morph=”OSHM:HTd/Acbpa” ”strong=”c/d/3967|��������/��/��
x-morph=”OSHM:HC/Td/Acbpa” x-cantillationLevel=”0.0.1.0” ”strong=”c/l/8199|������������/��/��
x-morph=”OSHM:HC/Rd/Vqrmpa” x-cantillationLevel=”0.0.1” ”strong=”c/l/3605|����/��/��
x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”0.0.0” strong=”5387|��������
a” x-morph=”OSHM:HNcmsa” ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”7218|��������
a” x-morph=”OSHM:HNcmpc” ”strong=”d/1|�������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 3 ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1.1” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������/���|strong=”d/6951”
x-morph=”OSHM:HTd/Ncmsa” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”l/1116|�������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/1391|���������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”8033” x-morph=”OSHM:HD”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.1”
”strong=”168|������ x-morph=”OSHM:HNcmsc” ”strong=”4150|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” ”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0.0” ”strong=”4872|������� x-morph=”OSHM:HNp”
”strong=”5650|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 4 ”strong=”61|������
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.2” ”strong=”727|�������
x-morph=”OSHM:HNcbsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1.1” ”strong=”5927|�������� x-morph=”OSHM:HVhp3ms”
”strong=”1732|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”+strong=”m/7157|���������/�� x-morph=”OSHM:HR/Np” ”strong=”7157|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”b/3559|�������/����
a” x-morph=”OSHM:HRd/Vhp3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”1732|�������� x-morph=”OSHM:HNp”



CONTENTS 5

x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”5186|������
x-morph=”OSHM:HVqp3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”168|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”b/3389|������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 5 ”strong=”c/4196|���������/�� x-morph=”OSHM:HC/Ncmsc”
strong=”d/5178|����������/�� a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.2”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.1” ”strong=”1212|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” strong=”1121|���� a”
x-morph=”OSHM:HNcmsc”��������|strong=”221” x-morph=”OSHM:HNp”
strong=”1121|��� a” x-morph=”OSHM:HNcmsc”������|strong=”2354”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”7760|����� a”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”1.0” ”strong=”4908|����������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/1875|���/�����������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/d/6951|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0”� 6 ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”����������|strong=”4196” x-morph=”OSHM:HNcmsc”
strong=”d/5178|�����������/�� a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”834|������� a”
x-morph=”OSHM:HTr” x-cantillationLevel=”1.0” ”strong=”l/168|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”4150|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vhw3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0”
strong=”5930|������� a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0”�
7 ”strong=”b/3915|���������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1” ”strong=”7200|��������
x-morph=”OSHM:HVNp3ms” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”l/8010|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1”
”strong=”7592|������� x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”0.0”
”strong=”4100|���� x-morph=”OSHM:HTi” ”strong=”5414|������ x-morph=”OSHM:HVqi1cs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”� 8 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”l/430|��������/��� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”1.1” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”1.0.1” strong=”6213|��������� a” x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.0.0” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”1732”
x-morph=”OSHM:HNp” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”



6 CONTENTS

x-cantillationLevel=”1.0” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
strong=”1419|�������� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
strong=”c/4427|���/������������/�� a” x-morph=”OSHM:HC/Vhp2ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”8478|�/���������� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 9 ”strong=”6258|������� x-morph=”OSHM:HD”
x-cantillationLevel=”1.2.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2”
”strong=”539|��������� x-morph=”OSHM:HVNj3ms” x-cantillationLevel=”1.1.0”
”strong=”1697|���/�������� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1”
strong=”5973|���� a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”1732|��������
x-morph=”OSHM:HNp” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.2.0” strong=”4427|���/������������
a” x-morph=”OSHM:HVhp2ms/Sp1cs” x-cantillationLevel=”0.2” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”5971 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”7227|���� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”k/6083|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
10 ”strong=”6258|������� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1”
”strong=”2451|�������� x-morph=”OSHM:HNcfsa” ”strong=”c/4093|�������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”5414|����
x-morph=”OSHM:HVqv2ms”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”c/3318|���������/�� x-morph=”OSHM:HC/Vqh1cs”
x-cantillationLevel=”1.0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
strong=”d/5971|���/��� a” x-morph=”OSHM:HTd/Ncmsa”�����/���|strong=”d/2088”
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0” ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqh1cs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�����|strong=”4310” x-morph=”OSHM:HTi” ”strong=”8199|����������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1” ”strong=”853|��� x-
morph=”OSHM:HTo”���/������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.0”
strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0”�
� 11 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”����������|strong=”430”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.2.2” � ”strong=”l/8010|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.2.1” ”strong=”3282|������
x-morph=”OSHM:HC” strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1961|��������
x-morph=”OSHM:HVqp3fs” ”strong=”2063|����� x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”1.1.2.0” strong=”5973|��� a” x-morph=”OSHM:HR”��/��������|strong=”3824”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1.2” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”������������|strong=”7592” x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.1.1.0” ”strong=”6239|������� x-morph=”OSHM:HNcmsa”
”strong=”5233|��������� x-morph=”OSHM:HNcmpa” ”strong=”c/3519|�������/��
x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”1.1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”1.1.0” ”strong=”5315|�������
x-morph=”OSHM:HNcbsc” ”strong=”8130|��/��������� x-morph=”OSHM:HVqrmpc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”��������|strong=”3117”



CONTENTS 7

x-morph=”OSHM:HNcmpa” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7592|�����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1” ”strong=”c/7592|����������/��
x-morph=”OSHM:HC/Vqw2ms”���/���|strong=”l” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.2.0” ”strong=”2451|�������� x-morph=”OSHM:HNcfsa”
”strong=”c/4093|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”8199|������������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”4427|��/������������� a” x-morph=”OSHM:HVhp1cs/Sp2ms”
x-cantillationLevel=”0.0” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 12 ”strong=”d/2451|��������/��� x-morph=”OSHM:HTd/Ncfsa”
”strong=”c/d/4093|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”5414|������� x-morph=”OSHM:HVqsmsa”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” ”strong=”c/6239|�������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/5233|���������/�� x-morph=”OSHM:HC/Ncmpa”
”strong=”c/3519|�������/�� x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.2.0”
”strong=”5414|������ x-morph=”OSHM:HVqi1cs”��/����|strong=”l” x-
morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.2” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.1.1.0” � ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”1961” x-morph=”OSHM:HVqp3ms”
strong=”3651|���� c” x-morph=”OSHM:HD” x-cantillationLevel=”0.1.1”
”strong=”l/4428|����������/�� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”0.1” strong=”c/310|��/��������/��
a” x-morph=”OSHM:HC/R/Sp2ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”0”� 13 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”l/1116|�������/�� x-morph=”OSHM:HRd/Ncfsa”
strong=”834|������ a” x-morph=”OSHM:HTr”���������/����|strong=”b/1391”
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0” ”strong=”3389|��������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”m/l/6440|������/���/��
x-morph=”OSHM:HR/R/Ncbpc” x-cantillationLevel=”1.0” ”strong=”168|������
x-morph=”OSHM:HNcmsc” ”strong=”4150|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/4427|����������/�� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 14 ”strong=”c/622|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”7393|������ x-morph=”OSHM:HNcmsa”
strong=”c/6571|����������/�� b” x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.2”
”strong=”c/1961|�����/��� x-morph=”OSHM:HC/Vqw3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.1” ”strong=”505|������
x-morph=”OSHM:HAcbsa” ”strong=”c/702|��������/�� x-morph=”OSHM:HC/Acfsa”��������|strong=”3967”
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1.0” ”strong=”7393|������



8 CONTENTS

x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/8147|�������/��
x-morph=”OSHM:HC/Acmda”��������|strong=”6240” x-morph=”OSHM:HAcmsa”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0”
strong=”6571|����������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/3240|��/���������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”b/5892|������/��� b” x-morph=”OSHM:HR/Ncfpc”
”strong=”d/7393|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
strong=”c/5973|���/�� a” x-morph=”OSHM:HC/R”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”b/3389|�������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 15 ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/3701”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/2091”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”k/68|���������/���
x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” ”strong=”d/730|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0.1” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0.0” ”strong=”k/8256|�����������/��� x-morph=”OSHM:HRd/Ncfpa”
strong=”834|������ a” x-morph=”OSHM:HTr”����������/����|strong=”b/8219”
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”l/7230|����/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0”� 16 ”strong=”c/4161|�������/��
x-morph=”OSHM:HC/Ncmsc” strong=”d/5483|���������/�� b” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”l/8010|���������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”c/m/4723|������/��/�� a” x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”0.2”
”strong=”5503|�������� x-morph=”OSHM:HVqrmpc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”m/4723|������/��
a” x-morph=”OSHM:HR/Np” ”strong=”3947|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.0” ”strong=”b/4242|�������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 17 ”strong=”c/5927|��������/���� x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”1.1.0.0” ”strong=”c/3318|�����������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np” ”strong=”4818|�����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0” ”strong=”b/8337|������/���
x-morph=”OSHM:HR/Acfsa” ”strong=”3967|������� x-morph=”OSHM:HAcbpa”
”strong=”3701|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
strong=”c/5483|�����/�� b” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/2572|�����������/��� x-morph=”OSHM:HRd/Acbpa” ”strong=”c/3967|������/��
x-morph=”OSHM:HC/Acbsa” x-cantillationLevel=”1” strong=”c/3651|���/���
c” x-morph=”OSHM:HC/Tm” x-cantillationLevel=”0.0.0.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”���������|strong=”4428” x-morph=”OSHM:HNcmpc”
”strong=”d/2850|��������/��� x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0.0.0”
”strong=”c/4428|��������/�� x-morph=”OSHM:HC/Ncmpc” ”strong=”758|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”b/3027|�/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp” ”strong=”3318|���������� x-morph=”OSHM:HVhi3mp”



CONTENTS 9

x-cantillationLevel=”0”� 18 1 KJV:2Chr.2.1 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” ”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”
strong=”1004|�������� b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”l/8034|�����/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”c/1004|������/��
b” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”l/4438|��/���������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0”�2 2 KJV:2Chr.2.2 strong=”c/5608|����������/�� a” x-morph=”OSHM:HC/Vqw3ms”

”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”7657|���������� x-morph=”OSHM:HAcbpa” ”strong=”505|�������

x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”5449|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/8084|�����������/�� x-morph=”OSHM:HC/Acbpa”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”2672|������ x-morph=”OSHM:HVqrmsa” ”strong=”b/2022|����/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/5329|������������/��
x-morph=”OSHM:HC/Vprmpa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”505|��������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.0”
”strong=”c/8337|������/�� x-morph=”OSHM:HC/Acfsa” ”strong=”3967|�������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0”� � 2 3 KJV:2Chr.2.3
”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”2361”
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”�����|strong=”6865”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” strong=”6213|���������� a” x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.2.0” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”1732”
x-morph=”OSHM:HNp” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.2” ”strong=”c/7971|�����������/�� x-morph=”OSHM:HC/Vqw2ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”730|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1” ”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”1004|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l/3427|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
3 4 KJV:2Chr.2.4 ”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”589|������
x-morph=”OSHM:HPp1cs” ”strong=”1129|������� x-morph=”OSHM:HVqrmsa”��������|strong=”1004
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.1.1” ”strong=”l/8034|�����/��
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.2.1.0” � ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
1+
2+
3+
4+



10 CONTENTS

x-cantillationLevel=”1.2.1” ”strong=”l/6942|�����������/�� x-morph=”OSHM:HR/Vhc”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.0.0”
strong=”l/6999|���������/�� a” x-morph=”OSHM:HR/Vhc” ”strong=”l/6440|�/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” ”strong=”7004|�������� x-morph=”OSHM:HNcfsc”���������|strong=”5561”
x-morph=”OSHM:HNcmpa” ”strong=”c/4635|����������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”8548|�������� x-morph=”OSHM:HNcmsa” strong=”c/5930|�������/��
a” x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1.2.0” ”strong=”l/1242|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”c/l/6153|������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”l/7676|������������/�� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”1.1.0” ”strong=”c/l/2320|����������/���/�� x-morph=”OSHM:HC/Rd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/l/4150|���������/��/��� x-morph=”OSHM:HC/R/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”1”
”strong=”l/5769|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”2063|����� x-morph=”OSHM:HPdxfs” strong=”5921|��� a” x-
morph=”OSHM:HR”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 4 5 KJV:2Chr.2.5 strong=”c/d/1004|�������/��/��
b” x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”589” x-morph=”OSHM:HPp1cs”
”strong=”1129|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
strong=”1419|�������� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1419
a” x-morph=”OSHM:HAamsa” ”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 5 6 KJV:2Chr.2.6
”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti” ”strong=”6113|�������
x-morph=”OSHM:HVqi3ms”��������|strong=”3581 b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”1004|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0” ”strong=”c/8064|�������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3557|���/������������
x-morph=”OSHM:HVli3ms/Sp3ms” x-cantillationLevel=”1” ”strong=”c/4310|����/��
x-morph=”OSHM:HC/Ti” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1129|������� x-morph=”OSHM:HVqi1cs”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”1004|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”3588|����� b” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0” strong=”518|��� b” x-morph=”OSHM:HC”���������/���|strong=”l/6999
a” x-morph=”OSHM:HR/Vhc” ”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 6 7 KJV:2Chr.2.7 ”strong=”c/6258|�������/��

5+
6+
7+



CONTENTS 11

x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1.2” ”strong=”7971|��������
x-morph=”OSHM:HVqv2ms”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
”strong=”376|����� x-morph=”OSHM:HNcmsa”�������|strong=”2450”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.1.1” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”b/2091|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”c/b/3701|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”1.1.1.0” strong=”c/b/5178|����������/��/�� a” x-
morph=”OSHM:HC/Rd/Ncfsa” ”strong=”c/b/1270|���������/��/�� x-
morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”c/b/710|�����������/���/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”c/3758|���������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/8504|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”c/3045|�������/�� x-morph=”OSHM:HC/Vqrmsa”
x-cantillationLevel=”1.0” strong=”l/6605|��������/�� b” x-morph=”OSHM:HR/Vpc”
”strong=”6603|������������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
strong=”5973|��� a” x-morph=”OSHM:HR”���������/����|strong=”d/2450”
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”b/3063|��������/���� x-morph=”OSHM:HR/Np”
”strong=”c/b/3389|������������/���/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”3559|������� a” x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0”
”strong=”1732|�������� x-morph=”OSHM:HNp” ”strong=”1|�/�����
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 7 8 KJV:2Chr.2.8
”strong=”c/7971|�������/��� x-morph=”OSHM:HC/Vqv2ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”6086|������ x-morph=”OSHM:HNcmpc”
”strong=”730|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.3.0.0”
”strong=”1265|������������ x-morph=”OSHM:HNcmpa” ”strong=”c/418|��������������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.3.0” ”strong=”m/d/3844|����������/��/���
x-morph=”OSHM:HR/Td/Np” x-cantillationLevel=”1.3” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.2.0” ”strong=”589|������
x-morph=”OSHM:HPp1cs” ”strong=”3045|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.2” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5650|���/�������� x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”3045|����������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1”
”strong=”l/3772|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”6086|������ x-morph=”OSHM:HNcmpc” ”strong=”3844|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”5650|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”��/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0”� 8 9 KJV:2Chr.2.9
strong=”c/l/3559|�������/��/�� a” x-morph=”OSHM:HC/R/Vhc” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0.0” ”strong=”6086|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”l/7230|����/��

8+
9+



12 CONTENTS

x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”589”
x-morph=”OSHM:HPp1cs” ”strong=”1129|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.0” strong=”1419|�������� a” x-morph=”OSHM:HAamsa”
”strong=”c/6381|��������/�� x-morph=”OSHM:HC/Vha” x-cantillationLevel=”0”�
9 10 KJV:2Chr.2.10 ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”l/2404|���������/��� x-morph=”OSHM:HRd/Vqrmpa” x-cantillationLevel=”1.2.1.3”
� ”strong=”l/3772|��������/��� x-morph=”OSHM:HR/Vqrmpc” x-cantillationLevel=”1.2.1.2”
� ”strong=”d/6086|�������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1.1”
”strong=”5414|��������� x-morph=”OSHM:HVqp1cs” ”strong=”2406|��������
x-morph=”OSHM:HNcfpa” � ”strong=”4347|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.2.1.0” ”strong=”l/5650|��/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp2ms”
x-cantillationLevel=”1.2.1” strong=”3734|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2.0” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.2”
”strong=”c/8184|����������/�� x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1.1”
strong=”3734|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1” ”strong=”c/3196|������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2.1” ”strong=”1324|���������
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.2.0” ”strong=”6242|����������
x-morph=”OSHM:HAcbpa” ”strong=”505|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”0.2” ”strong=”c/8081|�������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”1324|��������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0”�
� 10 11 KJV:2Chr.2.11 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”2361|������� x-morph=”OSHM:HNp” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”�����|strong=”6865” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1.0” ”strong=”b/3791|������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”8010”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”b/160|��������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”5414|���/������
x-morph=”OSHM:HVqp3ms/Sp2ms” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 11 12 KJV:2Chr.2.12 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.3.0” ”strong=”2361|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.3” ”strong=”1288|���������

10+
11+
12+



CONTENTS 13

x-morph=”OSHM:HVqsmsa” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/8064” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”l/1732|�������/�� x-morph=”OSHM:HR/Np” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.1.0” strong=”1121|�����
a” x-morph=”OSHM:HNcmsa” ”strong=”2450|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.2.1” ”strong=”3045|��������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.2.0” ”strong=”7922|������� x-morph=”OSHM:HNcmsa”
”strong=”c/998|�������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1129|�������
x-morph=”OSHM:HVqi3ms”���������|strong=”1004 b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” strong=”c/1004|������/�� b” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”l/4438|��/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 12 13 KJV:2Chr.2.13 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0.1” ”strong=”7971|������������
x-morph=”OSHM:HVqp1cs” ”strong=”376|����� x-morph=”OSHM:HNcmsa”�������|strong=”2450”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0.0” ”strong=”3045|��������
x-morph=”OSHM:HVqrmsa” ”strong=”998|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”l/2361|�������/�� x-morph=”OSHM:HR/Np”
”strong=”1|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 13
14 KJV:2Chr.2.14 strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”802”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2.2.0” strong=”4480|���
a” x-morph=”OSHM:HR”���������|strong=”1323” x-morph=”OSHM:HNcfpc”
”strong=”1835|����� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.2”
”strong=”c/1|�/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms” ”strong=”376|�����
x-morph=”OSHM:HNcmsa”�������|strong=”6876” x-morph=”OSHM:HNgmsa”
x-cantillationLevel=”1.2.1.3” ”strong=”3045|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.2.1.2” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
”strong=”b/2091|�������/��� x-morph=”OSHM:HRd/Ncmsa”������/��/����|strong=”c/b/3701”
x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.2.1.1” strong=”b/5178|����������/���
a” x-morph=”OSHM:HRd/Ncfsa” ”strong=”b/1270|���������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2.1.0” ”strong=”b/68|���������/��� x-morph=”OSHM:HRd/Ncfpa”
”strong=”c/b/6086|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmpa” x-
cantillationLevel=”1.2.1” ”strong=”b/713|�����������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”b/8504|����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.2.0”
”strong=”c/b/948|������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”c/b/3758|����������/��/��
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x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.2” strong=”c/l/6605|���������/��/��
b” x-morph=”OSHM:HC/R/Vpc” x-cantillationLevel=”1.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�����������|strong=”6603” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/l/2803|�������/��/�� x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”4284”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|��������� x-morph=”OSHM:HVNi3ms”���/��|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2.0” strong=”5973|���
a” x-morph=”OSHM:HR”��/���������|strong=”2450” x-morph=”OSHM:HAampc/Sp2ms”
x-cantillationLevel=”0.2” ”strong=”c/2450|��������/��� x-morph=”OSHM:HC/Aampc”
x-cantillationLevel=”0.1” ”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”1732|�������� x-morph=”OSHM:HNp”
”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”�
14 15 KJV:2Chr.2.15 ”strong=”c/6258|������/��� x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.1.0.1” ”strong=”d/2406|��������/�� x-morph=”OSHM:HTd/Ncfpa”
”strong=”c/d/8184|�����������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
x-cantillationLevel=”0.1.0.0” ”strong=”d/8081|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/d/3196|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”7971|���������
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”0.0” ”strong=”l/5650|�/��������/��
x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-cantillationLevel=”0”� 15 16 KJV:2Chr.2.16
”strong=”c/587|���������/��� x-morph=”OSHM:HC/Pp1cp” x-cantillationLevel=”1.1.0.0”
”strong=”3772|�������� x-morph=”OSHM:HVqi1cp” ”strong=”6086|�������
x-morph=”OSHM:HNcmpa” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/3844”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1.0” ”strong=”k/3605|���/���
x-morph=”OSHM:HR/Ncmsc”��/���������|strong=”6878” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/935|�/��������/�� x-morph=”OSHM:HC/Vhi1cp/Sp3mp”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0.0”
”strong=”7513|����������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3220” x-morph=”OSHM:HNcmsa”
”strong=”3305|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms” x-cantillationLevel=”0.0.0” ”strong=”5927|���������
x-morph=”OSHM:HVhi2ms” ”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 16 17 KJV:2Chr.2.17 strong=”c/5608|����������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.2” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/1616|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.2.0” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc”
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”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”310|�������� a” x-morph=”OSHM:HR” ”strong=”d/5610|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”5608|�/������� a” x-morph=”OSHM:HVqp3ms/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”1732|�������� x-morph=”OSHM:HNp”
”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/4672|������������/�� x-morph=”OSHM:HC/VNw3mp” x-
cantillationLevel=”0.1.1” ”strong=”3967|������ x-morph=”OSHM:HAcbsa”
”strong=”c/2572|�����������/�� x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”0.1.0”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.1”
”strong=”c/7969|����������/�� x-morph=”OSHM:HC/Acmsc” ”strong=”505|���������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.0” ”strong=”c/8337|������/��
x-morph=”OSHM:HC/Acfsa” ”strong=”3967|������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”0”� 17 18 KJV:2Chr.2.18 strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1.0.0” ”strong=”7657|���������� x-morph=”OSHM:HAcbpa”
”strong=”505|������� x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.1.0”
”strong=”5449|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/8084|����������/�� x-morph=”OSHM:HC/Acbpa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0” ”strong=”2672|������
x-morph=”OSHM:HVqrmsa” ”strong=”b/2022|����/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/7969|����������/�� x-morph=”OSHM:HC/Acmsc”
”strong=”505|��������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.1.0”
”strong=”c/8337|������/�� x-morph=”OSHM:HC/Acfsa” ”strong=”3967|�������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.1” ”strong=”5329|������������
x-morph=”OSHM:HVprmpa” x-cantillationLevel=”0.0” ”strong=”l/5647|���������/��
x-morph=”OSHM:HR/Vhc” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�3 strong=”c/2490|�������/�� c” x-morph=”OSHM:HC/Vhw3ms” ”strong=”8010|���������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”l/1129|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”1004

b” x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”b/3389|�������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.2” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”d/4179|������������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7200|�������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.0”
”strong=”l/1732|�������/�� x-morph=”OSHM:HR/Np” ”strong=”1|���/������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”3559|������� a” x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/4725|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”1732|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”b/1637|������/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”0.0”
”strong=”771|�������� x-morph=”OSHM:HNp” ”strong=”d/2983|���������/��
18+
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x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0”� 2 strong=”c/2490|������/���
c” x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.1.0.1” ”strong=”l/1129|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0.0” ”strong=”b/2320|�������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/8145|��������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0.1.0” ”strong=”b/8145|��������/��� x-morph=”OSHM:HRd/Aomsa”
x-cantillationLevel=”0.1” ”strong=”b/8141|�������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”702|��������� x-morph=”OSHM:HAcfsa” x-cantillationLevel=”0.0”
”strong=”l/4438|��/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 3 ”strong=”c/428|��������/�� x-morph=”OSHM:HC/Pdxcp”
x-cantillationLevel=”1.1.0” ”strong=”3245|������� x-morph=”OSHM:HVHp3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”d/753|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0.1”
strong=”520|�������� a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0.0”
strong=”b/4060|��������/��� a” x-morph=”OSHM:HRd/Ncfsa” ”strong=”d/7223|������������/��
x-morph=”OSHM:HTd/Aofsa” x-cantillationLevel=”0.1.0” strong=”520|��������
a” x-morph=”OSHM:HNcfpa” ”strong=”8346|���������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”0.1” ”strong=”c/7341|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” strong=”520|�������� a” x-morph=”OSHM:HNcfpa”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0”�
4 ”strong=”c/d/197|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1.1.0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440” x-
morph=”OSHM:HNcbpc” ”strong=”d/753|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”7341|������ x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” strong=”520|��������
a” x-morph=”OSHM:HNcfpa” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”1.1” ”strong=”c/d/1363|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”3967|������ x-morph=”OSHM:HAcbsa”
”strong=”c/6242|����������/�� x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”1”
”strong=”c/6823|���/��������/�� x-morph=”OSHM:HC/Vpw3ms/Sp3ms”
”strong=”m/6441|����������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”0.0”
”strong=”2091|������ x-morph=”OSHM:HNcmsa” ”strong=”2889|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 5 ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”1.1.1.0” � strong=”d/1004|�������/��
b” x-morph=”OSHM:HTd/Ncmsa” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.1.1” ”strong=”2645|������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1.1.0” ”strong=”6086|���� x-morph=”OSHM:HNcmsc”
”strong=”1265|������������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
”strong=”c/2645|���/��������/�� x-morph=”OSHM:HC/Vpw3ms/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
strong=”2896|����� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vhw3ms” strong=”5921|�/������
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a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”8561|����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0” ”strong=”c/8333|�������������/��
x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”0”� 6 ”strong=”c/6823|������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”68|������
x-morph=”OSHM:HNcfsa” ”strong=”3368|�������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.0” ”strong=”l/8597|����������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/d/2091|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”2091|������ x-morph=”OSHM:HNcmsc”
”strong=”6516|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 ”strong=”c/2645|������/�� x-morph=”OSHM:HC/Vpw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0.0” ”strong=”d/6982|��������/�� x-morph=”OSHM:HTd/Ncfpa”
strong=”d/5592|���������/�� b” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0”
”strong=”c/7023|�/�����������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
strong=”c/1817|�/�����������/�� c” x-morph=”OSHM:HC/Ncfpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/6605|�������/�� b” x-morph=”OSHM:HC/Vpp3ms”
”strong=”3742|����������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”���������/���|strong=”d/7023”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� � 8 strong=”c/6213|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”��������|strong=”6944”
x-morph=”OSHM:HNcmsc” ”strong=”d/6944|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”753|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”7341|������ x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” strong=”520|��������
a” x-morph=”OSHM:HNcfpa” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”1.1” ”strong=”c/7341|��/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” strong=”520|�������� a” x-morph=”OSHM:HNcfpa”
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x-cantillationLevel=”0.0” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� � 7 strong=”c/6213|�������/��� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”4501”
x-morph=”OSHM:HNcfpc” ”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”6235|������� x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.0” ”strong=”k/4941|�/�����������/��� x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/5414|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/1964|�������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”2568|������� x-morph=”OSHM:HAcfsa”
”strong=”m/3225|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0”
”strong=”c/2568|�������/�� x-morph=”OSHM:HC/Acfsa” ”strong=”m/8040|����������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� � 8 strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”7979|������������ x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2.0” ”strong=”6235|��������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.2” ”strong=”c/3240|��������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.1.0” ”strong=”b/1964|�������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”2568|���������� x-morph=”OSHM:HAcmsa”
”strong=”m/3225|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0”
”strong=”c/2568|����������/�� x-morph=”OSHM:HC/Acmsa” ”strong=”m/8040|����������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1” strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0” ”strong=”4219|����������
x-morph=”OSHM:HNcmpc” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”3967|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”0”� 9 strong=”c/6213|���������/�� a” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” strong=”2691|������ a” x-morph=”OSHM:HNcbsc”
”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1”
”strong=”c/d/5835|��������/��/�� x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”1.0” strong=”d/1419|����������/�� a” x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1” strong=”c/1817|���������/�� c” x-morph=”OSHM:HC/Ncfpa”
”strong=”l/5835|��������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.0.0”
strong=”c/1817|����/����������/�� c” x-morph=”OSHM:HC/Ncfpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”6823|������� x-morph=”OSHM:HVpp3ms”
strong=”5178|��������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
10 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����/���|strong=”d/3220”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0.0” ”strong=”m/3802|�������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”d/3233|���������/�� x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”0.0.0” strong=”6924|�/������� b” x-morph=”OSHM:HD/Sd”
x-cantillationLevel=”0.0” ”strong=”m/4136|������/�� x-morph=”OSHM:HR/R”
”strong=”5045|�/�������� x-morph=”OSHM:HNcmsa/Sd” x-cantillationLevel=”0”�
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11 strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”2361|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”853|��� x-morph=”OSHM:HTo”���������/����|strong=”d/5518
a” x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������/���|strong=”d/3257” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������/���|strong=”d/4219”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” � ”strong=”c/3615|������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”2438|���� x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 20 strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/4399”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0.0” ”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 12 ”strong=”5982|�����������
x-morph=”OSHM:HNcmpa” ”strong=”8147|��������� x-morph=”OSHM:HAcmda”
x-cantillationLevel=”1.1” ”strong=”c/d/1543|���������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
”strong=”c/d/3805|����������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
x-cantillationLevel=”1.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc” ”strong=”d/5982|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”8147|���������� x-morph=”OSHM:HAcfda”
x-cantillationLevel=”1” ”strong=”c/d/7639|�����������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
”strong=”8147|���������� x-morph=”OSHM:HAcfda” x-cantillationLevel=”0.2”
”strong=”l/3680|��������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”8147” x-
morph=”OSHM:HAcfdc” x-cantillationLevel=”0.1.0” ”strong=”1543|���������
x-morph=”OSHM:HNcfpc” ”strong=”d/3805|�����������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc” ”strong=”d/5982|�����������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 13 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����������/����|strong=”d/7416”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0” ”strong=”702|���������
x-morph=”OSHM:HAcfsa” ”strong=”3967|������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”1.0” ”strong=”l/8147|��������/�� x-morph=”OSHM:HR/Acfdc”
”strong=”d/7639|�����������/�� x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1”
”strong=”8147|��������� x-morph=”OSHM:HAcmda” ”strong=”2905|��������
x-morph=”OSHM:HNcmpa” ”strong=”7416|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2.0” ”strong=”l/7639|����������/�� x-morph=”OSHM:HRd/Ncfsa”
”strong=”d/259|������/�� x-morph=”OSHM:HTd/Acfsa” x-cantillationLevel=”0.2”
”strong=”l/3680|��������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”8147” x-
morph=”OSHM:HAcfdc” x-cantillationLevel=”0.1.0” ”strong=”1543|���������
x-morph=”OSHM:HNcfpc” ”strong=”d/3805|�����������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
20+ ”strong=”2361|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
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x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/5982|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 14 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������/���|strong=”d/4350”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������/���|strong=”d/3595” x-morph=”OSHM:HTd/Ncmpa”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/4350”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0”� 15 ”strong=”853|���
x-morph=”OSHM:HTo”�����/���|strong=”d/3220” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/1241”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”8147|������� x-morph=”OSHM:HAcmda”��������|strong=”6240”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0” ”strong=”8478|�/����������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 16 ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������/����|strong=”d/5518 a” x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”1.1.0.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������/���|strong=”d/3257”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������/���|strong=”d/4207
b” x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605” x-morph=”OSHM:HNcmsc”����/�������|strong=”3627”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.1” strong=”6213|�������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0.0” ”strong=”2361|�������
x-morph=”OSHM:HNp” ”strong=”1|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa” ”strong=”8010|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”l/1004|�����/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”5178|��������� a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”4838|������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”0”� 17 ”strong=”b/3603|�������/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1.0”
”strong=”3332|�/������� x-morph=”OSHM:HVqp3ms/Sp3mp” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”b/5645|������/���
x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.0” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”996|������
x-morph=”OSHM:HR” ”strong=”5523|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
”strong=”6868|�/��������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0”�
18 strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”��������/���|strong=”d/3627” x-morph=”OSHM:HTd/Ncmpa”
”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1.0”
”strong=”l/7230|����/�� x-morph=”OSHM:HR/Ncbsa” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.0.0” ”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”2713|�������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.0”
”strong=”4948|��������� x-morph=”OSHM:HNcmsc” strong=”d/5178|����������/��
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a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”� � 19 strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3627”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.2.0” ”strong=”4196|��������� x-morph=”OSHM:HNcmsc”
”strong=”d/2091|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������������/���|strong=”d/7979”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” strong=”c/5921|����/�����/��
a” x-morph=”OSHM:HC/R/Sp3mp” x-cantillationLevel=”0.0” ”strong=”3899|������
x-morph=”OSHM:HNcbsc” ”strong=”d/6440|��������/�� x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”0”� 20 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������/���|strong=”d/4501”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.0.1.0” strong=”c/5216|����/�������/��
a” x-morph=”OSHM:HC/Ncmpc/Sp3mp” x-cantillationLevel=”0.0.1” strong=”l/1197|�/�������/��
a” x-morph=”OSHM:HR/Vpc/Sp3mp” ”strong=”k/4941|�����������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”d/1687|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
”strong=”5462|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
21 ”strong=”c/d/6525|�������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
strong=”c/d/5216|��������/��/�� a” x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”1.0.0” ”strong=”c/d/4457|�������������/��/��
x-morph=”OSHM:HC/Td/Ncmda” x-cantillationLevel=”1.0” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0” ”strong=”4357|���������
x-morph=”OSHM:HNcfpc” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 22 ”strong=”c/d/4212|������������/���/��
x-morph=”OSHM:HC/Td/Ncfpa” ”strong=”c/d/4219|������������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”1.0.0” ”strong=”c/d/3709|���������/��/��
x-morph=”OSHM:HC/Td/Ncfpa” ”strong=”c/d/4289|�����������/��/��
x-morph=”OSHM:HC/Td/Ncfpa” x-cantillationLevel=”1.0” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” ”strong=”5462|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/6607|������/�� x-morph=”OSHM:HC/Ncmsc”
strong=”d/1004|������/��� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1.1”
strong=”1817|�/������������ c” x-morph=”OSHM:HNcfpc/Sp3ms” ”strong=”d/6442|��������������/��
x-morph=”OSHM:HTd/Aafpa” x-cantillationLevel=”0.0.1.0” ”strong=”l/6944|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/6944|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0.1” strong=”c/1817|��������/�� c” x-morph=”OSHM:HC/Ncfdc”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”l/1964|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”2091|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�

5 strong=”c/7999|����������/�� a” x-morph=”OSHM:HC/Vqw3fs”
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x-cantillationLevel=”1.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/4399”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1” strong=”834|������

a” x-morph=”OSHM:HTr”��������|strong=”6213 a” x-morph=”OSHM:HVqp3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”l/1004|�����/�� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” � ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”8010|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”6944”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.2.1.0” � ”strong=”1732|��������
x-morph=”OSHM:HNp” ”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.2.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/3701”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/2091”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3627”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.2” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1” ”strong=”b/214|���������/���
x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”0.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� � 2 strong=”227|���� a” x-morph=”OSHM:HD”
”strong=”6950|��������� x-morph=”OSHM:HVhi3ms” ”strong=”8010|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”���������|strong=”2205” x-morph=”OSHM:HAampc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”���������|strong=”7218 a” x-morph=”OSHM:HNcmpc”
”strong=”d/4294|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0.0”
strong=”5387|���������� a” x-morph=”OSHM:HNcmpc” ”strong=”d/1|�������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0” strong=”l/1121|������/��
a” x-morph=”OSHM:HR/Ncmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”l/5927|���������/���
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”727” x-morph=”OSHM:HNcbsc”
”strong=”1285|������� x-morph=”OSHM:HNcfsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” strong=”m/5892|�����/��
b” x-morph=”OSHM:HR/Ncfsc” ”strong=”1732|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
”strong=”6726|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
3 ”strong=”c/6950|������������/�� x-morph=”OSHM:HC/VNw3mp”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”376” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/2282|����/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0”
”strong=”d/2320|�������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/7637|����������/��
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x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”0”� 4 ”strong=”c/935|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”2205|��������
x-morph=”OSHM:HAampc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
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”strong=”d/3881|���������/�� x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/727”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”� 5 ”strong=”c/5927|���������/��
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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������|strong=”168” x-morph=”OSHM:HNcmsc”
”strong=”4150|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������|strong=”3627” x-morph=”OSHM:HNcmpc”
”strong=”d/6944|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HVhp3cp” ”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
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x-morph=”OSHM:HNcfsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”d/3259|�����������/�� x-morph=”OSHM:HTd/VNrmpa”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”d/727|�������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”2076|������������
x-morph=”OSHM:HVprmpa” x-cantillationLevel=”0.1.0” ”strong=”6629|�����
x-morph=”OSHM:HNcbsa” ”strong=”c/1241|������/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|���� x-morph=”OSHM:HTn”������������|strong=”5608
a” x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0.0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4487|��������� x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”0.0” ”strong=”m/7230|����/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0”� 7 ”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”d/3548|���������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”727” x-morph=”OSHM:HNcbsc”
”strong=”1285|������� x-morph=”OSHM:HNcfsc”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”4725”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0.0” ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”1687” x-morph=”OSHM:HNcmsc”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”6944” x-morph=”OSHM:HNcmsc”
”strong=”d/6944|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”8478” x-morph=”OSHM:HR”
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x-cantillationLevel=”0.0” ”strong=”3671|��������� x-morph=”OSHM:HNcfdc”
”strong=”d/3742|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
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x-morph=”OSHM:HVqrmpa” ”strong=”3671|����������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”1.1” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”4725”
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x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”1.2.0” ”strong=”d/905|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2” ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/VNw3mp” strong=”7218|�������� a” x-morph=”OSHM:HNcmpc”
”strong=”d/905|���������/�� x-morph=”OSHM:HTd/Ncmpa” strong=”4480|���
a” x-morph=”OSHM:HR”�������/���|strong=”d/727” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/1687|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”7200|�������� x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”1.0”
”strong=”d/2351|�/������/�� x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1”
”strong=”c/1961|�����/��� x-morph=”OSHM:HC/Vqw3ms”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”0.1” ”strong=”5704|���� x-morph=”OSHM:HR”
x-cantillationLevel=”0.0” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
10 ”strong=”369|����� x-morph=”OSHM:HTn” x-cantillationLevel=”1.2.0”
”strong=”b/727|�������/���� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.2”
”strong=”7535|���� x-morph=”OSHM:HTa” x-cantillationLevel=”1.1.0” ”strong=”8147|�������
x-morph=”OSHM:HAcmdc” ”strong=”d/3871|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” strong=”834|������ a” x-morph=”OSHM:HTr”�������|strong=”5414”
x-morph=”OSHM:HVqp3ms” ”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/2722|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3772|������� x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”5973|��� a” x-
morph=”OSHM:HR”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”b/3318|�/������/��� x-morph=”OSHM:HR/Vqc/Sp3mp” x-cantillationLevel=”0.0”
”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
� 11 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1”
”strong=”b/3318|�����/��� x-morph=”OSHM:HR/Vqc” ”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” strong=”4480|���
a” x-morph=”OSHM:HR”��������/���|strong=”d/6944” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
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cantillationLevel=”0.1.0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/3548”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/4672|������������/��� x-
morph=”OSHM:HTd/VNrmpa” x-cantillationLevel=”0.1.0” ”strong=”6942|��������������
x-morph=”OSHM:HVtp3cp” x-cantillationLevel=”0.1” ”strong=”369|�����
x-morph=”OSHM:HTn” x-cantillationLevel=”0.0” ”strong=”l/8104|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/4256|�����������/�� x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”0”� 12 ”strong=”c/d/3881|���������/��/�� x-morph=”OSHM:HC/Td/Ngmpa”
”strong=”d/7891|������������/�� x-morph=”OSHM:HTd/Vormpa” ”strong=”l/3605|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”1.1.1.3” ”strong=”l/623|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.1.2” ”strong=”l/1968|�������/��
x-morph=”OSHM:HR/Np” ”strong=”l/3038|�������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.1.1” strong=”c/l/1121|����/�����/��/�� a” x-
morph=”OSHM:HC/R/Ncmpc/Sp3mp” ”strong=”c/l/251|����/�����/��/��
x-morph=”OSHM:HC/R/Ncmpc/Sp3mp” x-cantillationLevel=”1.1.1.0” ”strong=”3847|�������������
x-morph=”OSHM:HVPsmpa” ”strong=”948|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” ”strong=”b/4700|��������������/��� x-
morph=”OSHM:HR/Ncfda” x-cantillationLevel=”1.1.0” strong=”c/b/5035|���������/��/��
b” x-morph=”OSHM:HC/R/Ncmpa” ”strong=”c/3658|����������/�� x-
morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.1” ”strong=”5975|���������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0” ”strong=”4217|��������
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x-morph=”OSHM:HVhrmpa” x-wType=”x-ketiv” 21 ”strong=”b/2689|������������/���
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strong=”6963|���� a” x-morph=”OSHM:HNcmsa”�������|strong=”259”
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21+ ”strong=”2690|������������������ x-morph=”OSHM:HVhrmpa” x-
cantillationLevel=”0.0”
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strong=”3588|����� a” x-morph=”OSHM:HC” strong=”2896|����� a” x-
morph=”OSHM:HAamsa” x-cantillationLevel=”1.1” strong=”3588|����� a”
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x-morph=”OSHM:HR/Ncbpc” ”strong=”d/6051|������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”0.0” ”strong=”b/6205|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 2 ”strong=”c/589|������/��� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”1.0.0” ”strong=”1129|���������� x-morph=”OSHM:HVqp1cs”
strong=”1004|���� b” x-morph=”OSHM:HNcmsc”�������|strong=”2073”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”l|��/��� x-
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”strong=”8085|��������� x-morph=”OSHM:HVqi1cs” strong=”4480|���
a” x-morph=”OSHM:HR”����������/���|strong=”d/8064” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.2” ”strong=”c/5545|��������/�� x-morph=”OSHM:HC/Vqi1cs”
x-cantillationLevel=”0.1.0” strong=”l/2403|�/���������/�� b” x-morph=”OSHM:HR/Ncfsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/7495|���������/�� x-morph=”OSHM:HC/Vqi1cs”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”776”
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”0”� 15 ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1” strong=”5869|��/�����
a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”1961|��������
x-morph=”OSHM:HVqi3mp” strong=”6605|��������� a” x-morph=”OSHM:HVqsfpa”
x-cantillationLevel=”1.1” ”strong=”c/241|�/�������/�� x-morph=”OSHM:HC/Ncfdc/Sp1cs”
x-cantillationLevel=”1.0” strong=”7183|����������� b” x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1” ”strong=”l/8605|���������/�� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”0.0” ”strong=”d/4725|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
16 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1”
”strong=”977|������������ x-morph=”OSHM:HVqp1cs” ”strong=”c/6942|����������������/��
x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1”
”strong=”l/1961|������/�� x-morph=”OSHM:HR/Vqc”�/�������|strong=”8034”
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp” strong=”5869|�/������ a” x-morph=”OSHM:HNcbdc/Sp1cs”
strong=”c/3820|�/������/�� a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-
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cantillationLevel=”0.0.0” ”strong=”8033|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 17 strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms” x-cantillationLevel=”1.2.1.0” strong=”518|���
a” x-morph=”OSHM:HC”���������|strong=”3212” x-morph=”OSHM:HVqi2ms”
”strong=”l/6440|�/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp1cs” x-cantillationLevel=”1.2.1”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” ”strong=”1980|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.0” ”strong=”1732|��������
x-morph=”OSHM:HNp” ”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.2” strong=”c/l/6213|��������/��/�� a” x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.1” ”strong=”k/3605|����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6680|��/���������� x-morph=”OSHM:HVpp1cs/Sp2ms” x-cantillationLevel=”1”
”strong=”c/2706|�/������/�� x-morph=”OSHM:HC/Ncmpc/Sp1cs” ”strong=”c/4941|�/�����������/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”8104|�����������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”� 18 strong=”c/6965|�������������/��
b” x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.0” ”strong=”3678|��������
x-morph=”OSHM:HNcmsc” ”strong=”4438|��/���������� x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”3772|���������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.2.1”
”strong=”l/1732|�������/�� x-morph=”OSHM:HR/Np” ”strong=”1|���/������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.2.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.2” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”3772” x-morph=”OSHM:HVNi3ms”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”4910|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
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x-cantillationLevel=”1.1.0” ”strong=”2708|�/��������� x-morph=”OSHM:HNcbpc/Sp1cs”
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cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5414|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp” x-
cantillationLevel=”1” ”strong=”c/1980|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”0.1.1” ”strong=”c/5647|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”0.1.0” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
”strong=”312|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”0.1”
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x-cantillationLevel=”0.0” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
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a” x-morph=”OSHM:HR/R” ”strong=”127|��/�������� x-morph=”OSHM:HNcfsc/Sp1cs”
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x-cantillationLevel=”1.1” ”strong=”7993|����������� x-morph=”OSHM:HVhi1cs”
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”strong=”6440|�/������ x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/5414|����/��������/�� x-morph=”OSHM:HC/Vqi1cs/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”l/4912|�������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”c/l/8148|����������/��/�� x-morph=”OSHM:HC/R/Ncfsa” x-
cantillationLevel=”0.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 21 strong=”c/d/1004|�������/��/��
b” x-morph=”OSHM:HC/Td/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” strong=”5945|���������
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”5674 a” x-morph=”OSHM:HVqrmsa”
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a” x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”3602|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0.1” ”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”0.0”
strong=”c/l/1004|�������/��/�� b” x-morph=”OSHM:HC/Rd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.2.2” strong=”5921|����
a” x-morph=”OSHM:HR” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5800|��������� a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” � ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
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strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3318|��/��������
x-morph=”OSHM:HVhp3ms/Sp3mp” x-cantillationLevel=”1.2.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|���������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
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c” x-morph=”OSHM:HTm” x-cantillationLevel=”0.1.0” ”strong=”935|�������
x-morph=”OSHM:HVhp3ms” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”3605|����
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a” x-morph=”OSHM:HTr” ”strong=”1129|������� x-morph=”OSHM:HVqp3ms”
”strong=”8010|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
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x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3427|���������/��
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x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”0.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”5892 b” x-morph=”OSHM:HNcfpc”
”strong=”d/4543|�������������/��� x-morph=”OSHM:HTd/Ncfpa” x-
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”strong=”1129|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
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a” x-morph=”OSHM:HTr” ”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
”strong=”l/8010|���������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2”
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morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3205|�������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”29”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”6262” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”2124”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������|strong=”8019 a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 21 ”strong=”c/157|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”7346|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”4601” x-
morph=”OSHM:HNp” ”strong=”1323|��� x-morph=”OSHM:HNcfsc”�������������|strong=”53”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”m/3605|����/��
x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”802” x-morph=”OSHM:HNcfpc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”c/6370|�/�������������/�� x-morph=”OSHM:HC/Ncfpc/Sp3ms”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.1.0.0” ”strong=”802|�������� x-morph=”OSHM:HNcfpa”
”strong=”8083|���������� x-morph=”OSHM:HAcfsa”����������|strong=”6240”
x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1.1.0” ”strong=”5375|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1” ”strong=”c/6370|��������������/��
x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1.0” ”strong=”8346|����������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1” ”strong=”c/3205|��������/��
x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.0.1” ”strong=”6242|����������
x-morph=”OSHM:HAcbpa” ”strong=”c/8083|����������/�� x-morph=”OSHM:HC/Acmsa”
x-cantillationLevel=”0.0.0” strong=”1121|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”c/8346|����������/�� x-morph=”OSHM:HC/Acbpa”
”strong=”1323|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�
22 ”strong=”c/5975|����������/�� x-morph=”OSHM:HC/Vhw3ms” strong=”l/7218|������/��
a” x-morph=”OSHM:HRd/Ncmsa” ”strong=”7346|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”29”
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”4601”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/5057|�������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”b/251|�/������/��� x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0” strong=”l/4427|��/���������/�� a” x-morph=”OSHM:HR/Vhc/Sp3ms”
x-cantillationLevel=”0”� 23 ”strong=”c/995|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”c/6555|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”m/3605|����/��
x-morph=”OSHM:HR/Ncmsc”�/��������|strong=”1121 a” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”l/3605|���/��� x-morph=”OSHM:HR/Ncmsc”����������|strong=”776”
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x-morph=”OSHM:HNcbpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
”strong=”c/1144|����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.1”
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12 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” strong=”k/3559|�������/��� a” x-
morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.1.0.0” ”strong=”4438|���������

x-morph=”OSHM:HNcfsc” ”strong=”7346|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/k/2393|��/��������/��/�� x-morph=”OSHM:HC/R/Ncfsc/Sp3ms”
x-cantillationLevel=”1.1” strong=”5800|������ a” x-morph=”OSHM:HVqp3ms”
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x-morph=”OSHM:HNcfsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
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a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� � 2 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0.0” ”strong=”b/8141|��������/���
x-morph=”OSHM:HRd/Ncfsa” ”strong=”d/2549|�����������/��� x-morph=”OSHM:HTd/Aofsa”
x-cantillationLevel=”1.1.0” ”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”7346|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”5927|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0”
”strong=”7895|��������� x-morph=”OSHM:HNp” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”�����������|strong=”4714” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”4603|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”b/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 3 ”strong=”b/505|������/��� x-morph=”OSHM:HR/Acbsa”
”strong=”c/3967|����������/�� x-morph=”OSHM:HC/Acbda” x-cantillationLevel=”1.1.0”
”strong=”7393|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/b/8346|����������/��/�� x-morph=”OSHM:HC/R/Acbpa”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0”
strong=”6571|����������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”4557|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1” strong=”l/5971|����/��
a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”935” x-morph=”OSHM:HVqp3cp”
strong=”5973|���/���� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
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”strong=”3864|�������� x-morph=”OSHM:HNgmpa” ”strong=”5525|�����������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”0.0” ”strong=”c/3569|���������/��
x-morph=”OSHM:HC/Ngmpa” x-cantillationLevel=”0”� 4 ”strong=”c/3920|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”5892 b” x-morph=”OSHM:HNcfpc”
”strong=”d/4694|����������/�� x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”l/3063|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������������|strong=”3389” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 5 ”strong=”c/8098|������������/��� x-
morph=”OSHM:HC/Np” ”strong=”d/5030|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”7346” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/8269|�������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”622”
x-morph=”OSHM:HVNp3cp” ”strong=”413|��� x-morph=”OSHM:HR”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”m/6440|�������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”7895|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.1.0”
”strong=”3541|���� x-morph=”OSHM:HD”�������|strong=”559” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
strong=”859|������� d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”0.1.0”
strong=”5800|����������� a” x-morph=”OSHM:HVqp2mp” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”0.1” ”strong=”c/637|���/��
x-morph=”OSHM:HC/D”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.0.0” strong=”5800|����������� a” x-morph=”OSHM:HVqp1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”����������|strong=”7895”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 6 ”strong=”c/3665|������������/��
x-morph=”OSHM:HC/VNw3mp” ”strong=”8269|������� x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/d/4428|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” ”strong=”6662|��������
x-morph=”OSHM:HAamsa” � ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 7 ”strong=”c/b/7200|�������/��/�� x-morph=”OSHM:HC/R/Vqc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3665|����������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” ”strong=”1697|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” 32 We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”413|���
32c
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x-morph=”OSHM:HR”�������������|strong=”8098” x-morph=”OSHM:HNp”
� ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0.0”
”strong=”3665|���������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.0”
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”strong=”l/6413|���������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”5413”
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”strong=”7895|��������� x-morph=”OSHM:HNp” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”�����������|strong=”4714” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”214” x-morph=”OSHM:HNcmpc”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
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x-morph=”OSHM:HC/To”�����������|strong=”214” x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”853|��� x-morph=”OSHM:HTo”�����/���|strong=”d/3605” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3947|������
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x-cantillationLevel=”0.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
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x-cantillationLevel=”0.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”113”
x-morph=”OSHM:HNcmpa” ”strong=”l/428|�������/�� x-morph=”OSHM:HR/Pdxcp”
x-cantillationLevel=”0.1” ”strong=”7725|���������� x-morph=”OSHM:HVqi3mp”
”strong=”376|����� x-morph=”OSHM:HNcmsa”��/�����/���|strong=”l/1004
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a” x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”1” strong=”c/b/1121|��/������/��/��



134 CONTENTS

a” x-morph=”OSHM:HC/R/Ncmpc/Sp2ms” ”strong=”c/b/802|��/�������/��/��
x-morph=”OSHM:HC/R/Ncfpc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”c/b/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”��/����������|strong=”7399” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 15 strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”
x-cantillationLevel=”1.0.0” ”strong=”b/2483|���������/��� x-morph=”OSHM:HR/Ncmpa”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
strong=”b/4245|��������/��� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”4578|��/������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1” ”strong=”5704|���
x-morph=”OSHM:HR”���������|strong=”3318” x-morph=”OSHM:HVqi3mp”
”strong=”4578|���/������ x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/2483”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”��������|strong=”3117” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 16 ”strong=”c/5782|�������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”3088”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”853|���� x-
morph=”OSHM:HTo” ”strong=”7307|������ x-morph=”OSHM:HNcbsc” ”strong=”d/6430|��������������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0.1.0” strong=”c/d/6163|���������/���/��
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x-cantillationLevel=”1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1” ”strong=”5062|��/������
x-morph=”OSHM:HVqp3ms/Sp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
� ”strong=”b/4578|�/������/��� x-morph=”OSHM:HR/Ncmpc/Sp3ms”



CONTENTS 135
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”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/4428”
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b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0.0” ”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”��������|strong=”8179”
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cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/4428”
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morph=”OSHM:HNcmsc”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
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x-cantillationLevel=”0”� �24 strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”7651”
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”strong=”b/3389|������������/���� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”+strong=”m/884|�������/��
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x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
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58+
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b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 10 ”strong=”c/8055|������������/��
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x-morph=”OSHM:HNcmpa” ”strong=”c/8426|��������/�� x-morph=”OSHM:HC/Ncfpa”
x-cantillationLevel=”0.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”5081”
x-morph=”OSHM:HAamsc” strong=”3820|���� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”5930|������� a” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 32 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.0.0” ”strong=”4557|��������� x-morph=”OSHM:HNcmsc”
strong=”d/5930|������/�� a” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”935|���������
x-morph=”OSHM:HVhp3cp” ”strong=”d/6951|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”1241|������� x-morph=”OSHM:HNcbsa”
”strong=”7657|���������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1”
strong=”352|�������� a” x-morph=”OSHM:HNcmpa” ”strong=”3967|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0” ”strong=”3532|�����������
x-morph=”OSHM:HNcmpa” ”strong=”3967|��������� x-morph=”OSHM:HAcbda”
x-cantillationLevel=”1” strong=”l/5930|������/�� a” x-morph=”OSHM:HR/Ncfsa”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0”� 33 ”strong=”c/d/6944|�����������/��/���
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”1” ”strong=”1241|�������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1.0” ”strong=”8337|������
x-morph=”OSHM:HAcfsa” ”strong=”3967|������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”0.1” ”strong=”c/6629|�����/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”505|��������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0”�
34 ”strong=”7535|���� x-morph=”OSHM:HTa” ”strong=”d/3548|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” ”strong=”l/4592|������/�� x-morph=”OSHM:HR/Aamsa”
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x-cantillationLevel=”1.2” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”3201|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1”
”strong=”l/6584|����������/�� x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”�������/���|strong=”d/5930
a” x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1” ”strong=”c/2388|�/������������/���
x-morph=”OSHM:HC/Vpw3mp/Sp3mp” x-cantillationLevel=”0.2.1.0” ”strong=”251|����/�����
x-morph=”OSHM:HNcmpc/Sp3mp” ”strong=”d/3881|���������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0.2.1” ”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”3615”
x-morph=”OSHM:HVqc” ”strong=”d/4399|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.2.0” ”strong=”c/5704|����/�� x-morph=”OSHM:HC/R”
”strong=”6942|�������������� x-morph=”OSHM:HVti3mp” ”strong=”d/3548|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”d/3881|���������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”0.1.0” ”strong=”3477|��������� x-morph=”OSHM:HAampc”
”strong=”3824|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”l/6942|������������/�� x-morph=”OSHM:HR/Vtc” x-cantillationLevel=”0.0”
”strong=”m/d/3548|����������/��/��� x-morph=”OSHM:HR/Td/Ncmpa”
x-cantillationLevel=”0”� 35 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”�������|strong=”5930
a” x-morph=”OSHM:HNcfsa” ”strong=”l/7230|����/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”1.0.0.0” ”strong=”b/2459|��������/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/8002|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0”
”strong=”c/b/5262|����������/��/�� x-morph=”OSHM:HC/Rd/Ncmpa”
x-cantillationLevel=”1.0” strong=”l/5930|������/�� a” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” strong=”c/3559|���������/�� a” x-morph=”OSHM:HC/VNw3fs”
x-cantillationLevel=”0.0” ”strong=”5656|��������� x-morph=”OSHM:HNcfsc”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 36 ”strong=”c/8055|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”2396|���������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0.0” strong=”d/3559|�������/��
a” x-morph=”OSHM:HTr/Vhp3ms” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” strong=”l/5971|����/�� a” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”b/6597|��������/���
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” ”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� �30 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”2396|��������������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1.2.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3605”

x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
”strong=”c/3063|��������/��� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.2”
”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”�����������|strong=”107”
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.1” ”strong=”3789|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����������|strong=”669” x-morph=”OSHM:HNp”
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”strong=”c/4519|����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1”
”strong=”l/935|�����/�� x-morph=”OSHM:HR/Vqc” strong=”l/1004|����/��
b” x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/3389|������������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
”strong=”6453|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 2 ”strong=”c/3289|����������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/8269|�/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-
cantillationLevel=”1.0.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������/���|strong=”d/6951”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”d/6453|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”b/2320|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/8145|��������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
3 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”3201|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0.0” strong=”l/6213|��/�������/�� a” x-morph=”OSHM:HR/Vqc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn”���������������|strong=”6942” x-morph=”OSHM:HVtp3cp”
”strong=”l/4100|��/�� x-morph=”OSHM:HR/Ti”�����|strong=”1767” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” 73 A single word in the
text has been divided for exegesis. strong=”c/d/5971|����/��/�� a” x-
morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�����������|strong=”622” x-morph=”OSHM:HVNp3cp”
74 ”strong=”l/3389|������������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
4 ”strong=”c/3474|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/1697|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” strong=”b/5869|�������/���
a” x-morph=”OSHM:HR/Ncbdc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”c/b/5869|�������/��/�� a” x-morph=”OSHM:HC/R/Ncbdc”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������/���|strong=”d/6951”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 5 ”strong=”c/5975|�������������/��
x-morph=”OSHM:HC/Vhw3mp” ”strong=”1697|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” strong=”l/5674|���������/�� a” x-morph=”OSHM:HR/Vhc”
strong=”6963|����� a” x-morph=”OSHM:HNcmsa” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”+strong=”m/884|�������/�� x-morph=”OSHM:HR/Np”��������|strong=”884”

73+
74c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-morph=”OSHM:HAcfsa” ”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”������|strong=”1835”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0.0.0” strong=”l/6213|��������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”6453|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
”strong=”430|�������� x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”l/7230|����/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.0.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” ”strong=”k/3789|��������/���
x-morph=”OSHM:HRd/Vqsmsa” x-cantillationLevel=”0”� 6 ”strong=”c/3212|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”d/7323|�������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”b/107|����������/���� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.1.1.0”
”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/8269|�/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/3063|��������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1” ”strong=”c/k/4687|��������/��/��
x-morph=”OSHM:HC/R/Ncfsc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.3.4”
”strong=”7725|�������� x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”0.3.3”
75We read one or more accents in L differently than BHS. Often this notation in-
dicates a typographical error in BHS. ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.3.2” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.3.1” ”strong=”85|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.3.0” ”strong=”3327|��������
x-morph=”OSHM:HNp” ”strong=”c/3478|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.3” ”strong=”c/7725|�������/�� x-morph=”OSHM:HC/Vqj3ms”
x-cantillationLevel=”0.2.0” ”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/6413”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.2” ”strong=”d/7604|������������/��
x-morph=”OSHM:HTd/VNrfsa” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”m/3709|�����/�� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”0.0” ”strong=”4428|�������� x-morph=”OSHM:HNcmpc”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�����������|strong=”1961”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.2.1” ”strong=”k/1|����/���������/���
x-morph=”OSHM:HR/Ncmpc/Sp2mp” x-cantillationLevel=”1.2.0” ”strong=”c/k/251|����/�����/���/��
x-morph=”OSHM:HC/R/Ncmpc/Sp2mp” x-cantillationLevel=”1.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4603|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1” ”strong=”b/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
75c
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”strong=”1|����/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1”
”strong=”c/5414|�/���������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
”strong=”l/8047|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0”
strong=”859|������� d” x-morph=”OSHM:HPp2mp” ”strong=”7200|�������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0”� 8 ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”7185”
x-morph=”OSHM:HVhj2mp” ”strong=”6203|����/������� x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”k/1|����/��������/��� x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”1” ”strong=”5414|������ x-morph=”OSHM:HVqv2mp”�����|strong=”3027”
x-morph=”OSHM:HNcbsa” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.2.1” ”strong=”c/935|������/�� x-morph=”OSHM:HC/Vqv2mp”
”strong=”l/4720|���/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6942|����������� x-morph=”OSHM:HVhp3ms” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.2” ”strong=”c/5647|��������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.1”
”strong=”c/7725|�������/�� x-morph=”OSHM:HC/Vqj3ms” strong=”m/4480|�����/��
a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0” ”strong=”2740|�������
x-morph=”OSHM:HNcmsc” ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 9 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”b/7725|����/������/�� x-morph=”OSHM:HR/Vqc/Sp2mp” x-
cantillationLevel=”1.1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”251|����/�����
x-morph=”OSHM:HNcmpc/Sp2mp” strong=”c/1121|����/�����/�� a” x-
morph=”OSHM:HC/Ncmpc/Sp2mp” strong=”l/7356|���������/�� b” x-
morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”7617|����/�������� x-morph=”OSHM:HVqrmpc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/l/7725|������/��/�� x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.0” ”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”2587”
x-morph=”OSHM:HAamsa” ”strong=”c/7349|�������/�� x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”0.2.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.2”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”5493”
x-morph=”OSHM:HVhi3ms” ”strong=”6440|�������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.1.0” strong=”m/4480|�����/�� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.1” strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”7725”
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morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/d/1616|��������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.1.1” ”strong=”d/935|��������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.1.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/d/3427|������������/��/�� x-
morph=”OSHM:HC/Td/Vqrmpa” x-cantillationLevel=”0.0” ”strong=”b/3063|��������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 26 ”strong=”c/1961|�������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”8057|��������� x-morph=”OSHM:HNcfsa”����������|strong=”1419
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.0” ”strong=”b/3389|������������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0.1” ”strong=”m/3117|�����/��
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x-morph=”OSHM:HNp” strong=”1121|��� a” x-morph=”OSHM:HNcmsc”���������|strong=”1732”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”k/2063|�����/��
x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”0.0” ”strong=”b/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� � 27 strong=”c/6965|���������/��
b” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0.0” ”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/3881|���������/�� x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”1.1.0” ”strong=”c/1288|����������/�� x-morph=”OSHM:HC/Vpw3mp”
”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971 a”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/8085|�����������/��
x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”1.0” strong=”b/6963|�/������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”8605|�/���������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0.0.0” ”strong=”l/4583|�������/�� x-morph=”OSHM:HR/Ncbsc”
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”strong=”3605|���� x-morph=”OSHM:HNcmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.1.1” ”strong=”3318|��������

x-morph=”OSHM:HVqp3cp” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” 76 We read punctuation in L differently from BHS.
76p
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”strong=”d/4672|������������/��� x-morph=”OSHM:HTd/VNrmpa” x-
cantillationLevel=”1.1.0” strong=”l/5892|������/�� b” x-morph=”OSHM:HR/Ncfpc”
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x-cantillationLevel=”1.1” strong=”l/5930|������/�� a” x-morph=”OSHM:HR/Ncfsa”
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a” x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.2.0” ”strong=”d/1242|�������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/d/6153|������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
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x-cantillationLevel=”1.2” strong=”c/d/5930|�������/���/�� a” x-morph=”OSHM:HC/Td/Ncfpa”
x-cantillationLevel=”1.1” ”strong=”l/7676|������������/�� x-morph=”OSHM:HRd/Ncbpa”
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4 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”l/5971|����/��
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x-morph=”OSHM:HR/Vqrmpc” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”l/5414|����/�� x-morph=”OSHM:HR/Vqc”
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x-morph=”OSHM:HC/R/Vqc” ”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa”
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x-morph=”OSHM:HNcfsc” ”strong=”1715|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” ”strong=”8492|���������� x-morph=”OSHM:HNcmsa”
”strong=”c/3323|��������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”c/1706|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.0”
”strong=”8393|���������� x-morph=”OSHM:HNcfsc” strong=”7704|�������
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/4643|���������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”d/3605|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”l/7230|����/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”935|��������� x-morph=”OSHM:HVhp3cp”
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x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.3.1” ”strong=”d/3427|�������������/��
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b” x-morph=”OSHM:HR/Ncfpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”1.2.0” ”strong=”c/6629|�����/�� x-morph=”OSHM:HC/Ncbsa”
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”strong=”d/6942|�������������/�� x-morph=”OSHM:HTd/VPsmpa” x-
cantillationLevel=”1.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1”
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”strong=”935|��������� x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.1”
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x-cantillationLevel=”1” ”strong=”c/b/2320|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
”strong=”d/7637|�����������/�� x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”0.0”
”strong=”3615|�������� x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0”�
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80+ ”strong=”c/m/3329|��������/���/���/����/�/� x-
morph=”OSHM:HC/R/Ncmpc”
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x-cantillationLevel=”1.0” strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
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x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1” ”strong=”c/723|���������/��
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4 strong=”c/3559|���������/�� a” x-morph=”OSHM:HC/Vhv2mp” 89
Marks an anomalous form. 90 strong=”l/1004|����/�� b” x-morph=”OSHM:HR/Ncmsc”����/���������|strong=”1”
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.0” ”strong=”k/4256|����/������������/���
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x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”1.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”d/1|�������/��� x-morph=”OSHM:HTd/Ncmpa”
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88+ ”strong=”d/995|�����������/��������/� x-morph=”OSHM:HTd/Vhrmpa”
89n
90q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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91+ ”strong=”c/3562|������������/����������/� x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.0.1.1”
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93n
94q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” ”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”0”� 18 ”strong=”c/3605|���/��� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”1.2.0.1” ”strong=”3627|������� x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.2.0.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0”
strong=”d/1419|����������/�� a” x-morph=”OSHM:HTd/Aampa” strong=”c/d/6996|�����������/��/��
a” x-morph=”OSHM:HC/Td/Aampa” x-cantillationLevel=”1.2” ”strong=”c/214|����������/��
x-morph=”OSHM:HC/Ncmpc” x-cantillationLevel=”1.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/214|���������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”c/8269|�/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-
cantillationLevel=”1” ”strong=”d/3605|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”935|������� x-morph=”OSHM:HVhp3ms”
”strong=”894|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 19
”strong=”c/8313|������������/��� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”c/5422|�����������/��� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”1.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”1.0”
”strong=”2346|������� x-morph=”OSHM:HNcfsc” ”strong=”3389|�������������

95+ ”strong=”3778|������������������ x-morph=”OSHM:HNgmpa” x-
cantillationLevel=”1.1.1”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”���/��������������|strong=”759” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”8313|��������� x-morph=”OSHM:HVqp3cp”
”strong=”b/784|�����/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”3627”
x-morph=”OSHM:HNcmpc” ”strong=”4261|��/����������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”l/7843|����������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”0”� � 20 ”strong=”c/1540|�������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.0.0” ”strong=”d/7611|�����������/�� x-morph=”OSHM:HTd/Ncfsa”
strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/2719”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”894” x-morph=”OSHM:HNp” x-
cantillationLevel=”1” ”strong=”c/1961|��������/��� x-morph=”OSHM:HC/Vqw3mp”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”c/l/1121|��/�����/��/�� a” x-morph=”OSHM:HC/R/Ncmpc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/5650|���������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”4427
a” x-morph=”OSHM:HVqc” x-cantillationLevel=”0.0” ”strong=”4438|���������
x-morph=”OSHM:HNcfsc” ”strong=”6539|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 21 ”strong=”l/4390|���������/�� x-morph=”OSHM:HR/Vpc”
”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”b/6310|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3414|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”7521”
x-morph=”OSHM:HVqp3fs” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/��������������|strong=”7676”
x-morph=”OSHM:HNcbpc/Sp3fs” x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������|strong=”3117” x-morph=”OSHM:HNcmpc”
”strong=”8074|��/��������� x-morph=”OSHM:HVHc/Sp3fs” x-cantillationLevel=”0.1.0”
strong=”7673|��������� a” x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.1”
”strong=”l/4390|���������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.0”
”strong=”7657|���������� x-morph=”OSHM:HAcbpa” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� � 22 ”strong=”c/b/8141|�������/��/��
x-morph=”OSHM:HC/R/Ncfsc” ”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.1.1” ”strong=”l/3566|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”6539|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l/3615|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/6310|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3414|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”5782|������� x-morph=”OSHM:HVhp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”7307”
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”0.2.0” ”strong=”3566|���������
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”6539”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vhw3ms”������|strong=”6963 a” x-morph=”OSHM:HNcmsa”
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x-cantillationLevel=”0.1.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��/����������|strong=”4438”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”���������/����|strong=”b/4385” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� � 23 ”strong=”3541|���� x-morph=”OSHM:HD”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.3.1” ”strong=”3566|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.3.0” � ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”6539|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.3” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������|strong=”4467”
x-morph=”OSHM:HNcfpc” ”strong=”d/776|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.2.2” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.1”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms”�������|strong=”6485 a” x-morph=”OSHM:HVqp3ms”
strong=”5921|��/���� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” strong=”1004|������ b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”b/3389|������������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/3063|��������/���� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”4310|���� x-morph=”OSHM:HTi”����/���|strong=”b” x-morph=”OSHM:HR/Sp2mp”
”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0.0” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/5927|������/�� x-morph=”OSHM:HC/Vqi3ms”
x-cantillationLevel=”0”�


